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THIWIRT—T2 TI—T xRy ARt

THIWORT—TY TI—T xRy ARt

THIWORT—TY TI—T xRy ARt

THIVIRD—52 TI—TF Sy AR

7 2 > K £ Volkswagen Volkswagen Volkswagen Volkswagen
£ 7 2 £ Arteon R-Line 4MOTION Advance Arteon R-Line 4MOTION Advance e-Golf e-Golf

R F 14 A 7 — FILYRAZ) Y B—A)y AT O—48Y) Y Ea7RI4/k Ea7RI4/k
& 23 &= = #)11302.5.8215 f)11302.5.8217 #4)11302.5.8636 #)11302.5.8637
S ® 4,865 mm 4,865 mm 4,265 mm 4,265 mm
= = 1,875 mm 1,875 mm 1,800 mm 1,800 mm
S =] 1,435 mm 1,435 mm 1,480 mm 1,480 mm
ES = E 8 5% 5% 5% 5%

= [f7] 3 £ 1,720 kg 1,720 kg 1,590 kg 1,590 kg
T v v v E B B4R EHDOHCAYI-I—5—{F5—K (4n'7") B4R EDOHCAYI-)—5—{F5—K (4N 7") - —

B = = 1,984 cc 1,984 cc - —

R # & Al BINTLIT L MIMTLIT L — —
SV RETyLay 7DSG 7DSG 1AT 1AT
AN R R A = =l = a
JCOBE—FBRE 13.3 km/L 13.3 km/L — —

AIavE

[ 7 av]
BE//SIRSAT 425 IL—2 129,600M
7a7TyNILIT LY)—>) 75,600M

[AFLav]
BH/I/FYRFAT 12T IL—7 129,600M
HifA T arh5— 64,800
7a7TyNILIT LY)—>) 75,600M

[ 7 av]
T9/0T0—\yir— 172,800M
TA7IYNTILET LY)—) 43,200

[AF av]
T9/0T—/3yir— 172,800M
TA7IYNTILET LY)—) 43,200

A—H—F LN (BiR)

(F T kBT MERE) 5,990,000 5,990,000 4,990,000 4,990,000
I a Hh — #H B — — % k%
HE E @ & 5 Vw1 Vw2 Vw3 Vwé




14 v R -4 — 4 THIWHRT—FY GI—TF SviRy rAatt THINGRT—FY GI—TF SviRy rAatt THINHRT—FY TI—TF SviR rAatt THINIRT—FY TI—TF SviRy rAatt
7 2 b2 K % Volkswagen Volkswagen Volkswagen Volkswagen

GE 7 12 % Golf GTE Golf GTI Golf Alltrack TSI 4MOTION Tiguan TSI Highline

R F 14 A 7 — E—=GTATVTIN—*5)vH Ea7RI4/k E—aws 51— A8 vy TA—TITZ9D18—LTIHH

& 23 % 5 £45301T1055 1130259750 £45301T1058 11130258638
ES E=3 4,265 mm 4,275 mm 4,585 mm 4,500 mm
= = 1,800 mm 1,800 mm 1,800 mm 1,840 mm
ES =) 1,480 mm 1,470 mm 1,510 mm 1,675 mm
E B E a8 5% 5% 5% 5%
= [f7] 3 £ 1,610 kg 1,380 kg 1,540 kg 1,570 kg
T v v v B OE B4R EDOHCAYI-I—5—{F5—K (4n'7") B4R EDOHCAYI-I—5—{F5—K (4n'7") B4R EDOHCAYI-I—5—{F5—K (4 7") EFI4RBEDOHCAV4-)~5—1H4—FK (4N I7")
E:3 = = 1,394 cc 1,984 cc 1,798 cc 1,394 cc
b3 # # Al |INTLIT L |INTLIT L |INTLIT L |INTLIT L
2RIy 3ay 6DSG 6MT 6DSG 6DSG
AN N A A A A A
JCOB8E—F#®E 19.9 km/L 15.1 km/L 13.5 km/L 16.3 km/L
.. [AFvav]

A7 av] N ' . R

gl e [T ar] Discover Pros w4 —< 226,800/ . .

TH/80—\vhr— 172,800M ’ S = ) S 5s A7 av]

DCC/ S s —3 216,000M Discover Pro/\w%—< 226,800/ T9/00—/\y/r—< 172,800M 75 05— 18y b — 302,400

AIavE

L —>—k/8y4r—2 270,000
BH/IN/FYRFAT 129 IL—7 129,600M

T9/00—3yir— 172,800M
DCC/{v4—2 216,000

184 F 7 ILERA—)L 64,800
LH—o—bwir—2 291,600

LH—&8/57IL—2:3v4— 432,000
7a7TyNILIT LY1)—) 59,400M

RPN TSP A —ar) 43,2008 207 <yhGTI) 48,600M ;;Z;‘ill:(z"lﬁzoiag)—p) 43,200/

A—h—FLINFEflE (BiiR)

(F T kBT MERE) 4,690,000 3,959,000 3,659,000 4,399,000
I a Hh — #H B B — — —
HE E @ & 5 Vw5 Vw6 w7 Vw8




14 YR -4 — % THIWHRT—FY GI—TF SviRy rAatt THINIRT—FY TI—TF SviRy rAatt
7 2 > F £ Volkswagen Volkswagen

£ 7 12 £ Passat GTE Advance Passat GTE Variant Advance

R F 4 Hh 53 — FVYYRRTA b THF—HT8—)LTTzHk FNVYYRRTA - T HF—AT/8—)LTTzH+
& 23 & = £18301T1869 51130239746

S ® 4,785 mm 4,775 mm

£ 2 1,830 mm 1,830 mm

S =] 1,460 mm 1,510 mm

ES = E 8 5% 5%

= [f7] 3 £ 1,740 kg 1,770 kg

T v v v E B B4R EDOHCAYI-I—5—{F5—K (4 7") B4R EDOHCAYI-)—5—{F5—K (4N b7")
B = = 1,394 cc 1,394 cc

R # & Al MIMTLIT L MIMTLIT L

SV RETyLay 6DSG 6DSG

AN N A =] a
JCOBE—FBRE 20.9 km/L 20.3 km/L

AIavE

[A T av]
BH/I/FYRFAT 129 IL—7 129,600M
HifA T arhF— 129,600M
Ia7IYNTILET LYY—) 54,000

[AFLav]
BH//FIRSAT 427 IL—7 151,200/
HifA T arhF— 129,600M
IO7IYNTILET LYY—) 54,000

A—H—F LN (BiR)

(A Tom b SE L MER) 5,889,000/ 6,089,000/
T 3 h — B B ki ki
HE E @ & 5 Vw9 Vw10




